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SECTION A

1 Suppose that f : R — C is a function. Define the Fourier transform f (£). Suppose
that

f = 1[071} ..k 1[071],

the m-fold convolution of the (characteristic function of) the interval [0,1] with itself.
Show that

[£(€)] < min(L, [¢]7™).

Define the Schwartz class S(R), and show that the Fourier transform preserves this class.
State and prove the Poisson summation formula. (Results on the uniqueness of Fourier
series may be used without proof if stated correctly.)

Assuming (if you need it) a formula for the Fourier transform of a gaussian function,
state and prove the functional equation of the Riemann (-function.

2 State the partial fraction expansion of the Riemann (-function.

Prove that there are no non-trivial zeros p = 8 + i~y of ( inside the region

B21—c/log(]y]+2)
for some absolute constant c.
State the explicit formula. Discuss how it can be used to prove the prime number

theorem in the form
>~ Aln) = X +O(Xe Ve X),
n<X

(Results on the existence of smooth bump functions with specified properties, on

the decay of IV /T" and on the decay of the Mellin transform in vertical strips may be stated
without detailed proof.)
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3 Prove that the sum of the reciprocals of the twin primes converges.

4 Let k > 1 be an integer, let p be a prime and suppose that (a,p) = 1. Define the
Gauss sum in the usual way as G := E,cz/pze(az® /p).

Establish the estimate
|Gapl <K/

Using this estimate, show that if p > pg(k) is sufficiently large then every = € Z/pZ
is a sum of three kth powers in Z/pZ.

5 Let X = {13,23 ... n3}, where n is the largest integer such that n3 < N.

Suppose that m is a subset of [0,1) with the property that
/ 11x(0)|° d§ = N?/2007.
m

Prove that m contains some number @ which is close to a rational in the sense that
lq0]] <e N°*

for some ¢ <. N€.

(If you use an “equidistribution lemma” you may state it without proof.)

6 Let f:{1,...,N} — C be a function with |f(n)| < 1 for all n. What does it mean
for the Type I and Type II sums for f to be §-small? Sketch, giving at least some of the

more interesting technical details, a proof that if the Type I and Type II sums for f are
(log™?" N)-small then

Y A)f(n) = o(N).

n<N

Let s(n) be the sum of the binary digits of n and set f(n) = (—1)*™. Prove that the
Type I sums for f are small.

END OF PAPER
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